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STATISTICS

Paper : STA0200104

( Correlation and Regression, Probability
Distributions, Statistical Inference-I
and Finite Difference)

Full Marks : 45
Time : 2 hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5

O 2GRS Tes ¢

(@) r,=0= X and Y are independent.
(True or False)

rxy=O:>X IF Y 97 |
(351 @ 19%)
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(a) Define partial and m ’
and JiUpi€ correiauon
TS T T2 AgA9a4 AT@E 14

(b) Find the mean of Poisson distribution.

(iv) (-1, +1)
s 3% Mg Fefa w4

(Choose the correct option)
(3% TG0 i =) (c) Prove that correlation coefficient is the
(c) Wh - geometric mean between two regression
o dat 18 hthe relationship between mean ‘ coefficients.
x . " |
variance of Poisson distribution ? ol T (A ADTIR AT LA FARE B
wHIR e 0T |

ategorical data?
class

o435 IR T ST LRI Ter© TG 2
(d) What do you mean by c

Also define classes and

(d) The probability of type I error is

(Fill in the blank) frequencies.
ﬁm‘ﬂ-ﬁlil@ o1 eIl T __ [ Categorical w2 JEIE & @ =
: T IR TR i

rd interpolation

(e HZ o7 F9)

State Newton’s forwa

: (e)
(ej Define the operators A and E. -l
A o E-3 e ﬁm@m@m*ﬁa@@‘%\ﬂ\
d.
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(b) The lines of regression of Y on x

. and x
on Y intersect at the point: :

ARG (A V-7 690 X WF X-3 @oigy
Y (@I035 T [/ 79 2

) (0,0
() (1,1)
(i) (X, 9)
(lU_) (_1: +1)

(Choose the correct option)

(8% TGl WIoa )

(c) What is the relationship between mean
and variance of Poisson distribution ?
o7i5 ITAR T S AR oS IIE [

(d) The probability of type I error is

(Fill in the blank)
A T-REE St seRel ga _ |
(et 312 %59 #)

(ej Define the operators A and E.
A @i E-3 ke
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(b)

(c)

Vil e g (/ﬁ_l/ I’U‘,’

(d) What do you mean by categorical data?

L”Xy
Forrsr by ¢ o ) ’
o PRI “ G4 o7 m
B} L Liadl a4t [fitd) ";,-"rfv :r/;’u"c,“";_ﬂirlq'

11754 Rt
T W% 7% FIATFRA AT T

Find the mean of Poisson distribution.

o5 A% M4y g w4

geometric mean between two regression
coefficients.
R A ARATR RIS :'Z’:"“ TR 2EOTH
VORGSR T |

Also define classes and class

frequencies.

Categorical % I & @ @R A
@ IRATER TS T

State Newton’s forward interpolation

(e)
formula.
T Tl s ! Bl
Contd.
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Find A:’(ae""), if h=1

i
Az(ae"')a ¥F Sfeved, I h=1 =)

(g9 Write a note on Association between
two attributes A and B.
A WF B ol 0K e ARBET 89 by
o R

(h) Show that for binomial distribution
mean is greater than variance.
@S (@ 27 ITNR CFqS T AR (F
Tl |

(i) Define normal distribution. Under what
conditions Binomial distribution tends
to normal distribution ?
AR AT el w56 w354
YA ITACET 9IS FF 2

() Define critical region.
Gifber Seery @ |

'02FN 0052 4

3. ADSWer any four questions - 5%4=20

S TR iz sifisra van oo -

(a) Define :

e fiem ¢

()  Hypothesis
oA

(i) Null hypothesis
e aox

(iij) Alternative hypothesis
s em

(b) Write down the important properties of
normal distribution.

I ITAT AYH TR B k

(c) Define Poisson distribution. Find the
mean and variance of the distribution.

25 IDNT R M | ITVAGBR TG T IR

fefa ==
(d) Describe how the goodness of fit can
be tested by using y2 statistic.
2 SfoPfoT Tl (FET TPEW (X! ST
R SR I =0
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(€) Describe ftest
by scribe Ftest for testing of equality
wo population variance

N RS SR Tl St AR Foo Sy
TR ] b

. two line
regression. s of

75! FRER mﬁaw?wqmzaa
TEE (R T Sferea |

(g) Prove that correlation coefficient is

independent of change of origin and
scale.

I B (T AT QMT ToRY, N 5o
(ST GTH] CoRe SIe] 73 |

(h) Write down the general quadrature
formula and then obtain the Simpson’s

%— rule.

TRAAF TR AR FI0!1 &1l o O
MW%— o Tl Sfeeat |

ANSWET any opn,
following *

woTs il et Ptz

(@)

(b)

()

®)

()
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Define Rary Cerret.

the Spearman’s Farl ... ,
coefficient. e

Gl TATFT 77z o
TRAIHD! ety 2

Given that the I

-
42132 '

are x+2y-5=0 znd

AT G e

2x+8y-8=0 and the vzrz--=

x is 12. Find E, ylo'f a_“’.’:; ”
TR (A [T x+2y-5=0 ==
2x+8Yy-8=0 U x-F IA=IT 12 7T

l)

W= X, Y, o) O 1, -3 TN RR =0

Write down the chief

characteristics of the Normal

Distribution and Normal Curve.
5
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(i) Find mean and variance gf
binomial distribution. 5

fastv 30 34y O 2iae e

(c) (i) Define interpolation. State ang
prove Lagrange’s interpolation

formula. 7
SN @l | Al S
pUCRGRIR CR DR

(ii) Find the missing value of f(2) from
the following data : 3
weTe Brad 9 OF A1 £(2)-3 W ef
| I

x : 12 3 4

flx) : 2 * 7 32

(d) Define x2. Derive expression for x? in
the contingency table.

22-3 WigEE | 2x2 IS SRR o
¥2-3 AR & w01

al|b
c|d

Write two uses of x2.

x2-3 70! IR forn
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